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1. When growing plants in culture, IAA is used to stimulate cell enlargement. Which plant
growth regulator has to now be added to stimulate cell division?

a. auxin; b, ethylene; c. cytokinin. d. gibberellin.

2. If a farmer wanted more loosely packed clusters of grapes, he would most likely spray
the immatire bunches with:

a, glbberellms, b. auxin. c. cytokinins; d. abseisic acid.

3. A botanist discovers a new species of plant in a tropical rain forest. After observing its
apatomy and life cycle, he notes the following characteristies: flagellated sperm, xylem
with tracheids, separate gametophyte and sporophyte generations with the sporophyte
dominant, and ne seeds. This plant is probably most closely related to:

a. mosses; b. ferns; ¢. flowering plants; d. EYMmnosperms.

;I Angmsperm double fertll:zatlon is so-called because it features the formation of
& two embryos fromrone egg and two sperm ceIis b. one embryo from one egg fertlhzed by
two sperm cells; ¢. one embryo from two eggs fertlhzed by 4 single sperm cell; d. one embryo
involving one sperm cell and an endosperm mvolvmg a second sperm cell.

5. Which of the following flower parts develops into the pulp of a fleshy fruit?

a. ovule; b. ovary; ¢. stigma; d. style, .
6. Studies using Arabidopsis thaliana as a model system have led to important advances in
all of the following except
a. gene mapping; b. evolutionary history of plants; ¢, gene expressibn during plant
development; d. impact of point mutations on gene fimction
7. According to the ABC model of floral development, which genes would be expressed in a
showy ornamental flower with multiple sepals and petals but no stamens or carpels?
a. 4 genes only; b. B genes only; ¢. 4 and B genes only; d, 4 and C genes only

s. When You eat onion, what are yon eating?
a large axillary buds; b. immature cotyledons; ¢, storage leaves d. storage roots

9. What drives the flow of water through the xylem?

a. passive transport by the endodermis; b. the evaporation of water from the leaves; ¢. active
transport by tracheid and vessel elements; d. active transport by sieve-tube elements

10. Mycorrhizae enhance plant nutrition mainly by

a. absorbing water and minerals through the fungal hyphae; b. providing sugar to root cells,
which have no chloroplasts; c, converting atmospheric nitrogen to ammonia; d, stimulating

the development of root hairs,
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Chemiosmosis vs. linear eleciron flow

Hypersensitive response vs. systematic acquired resistance
Circadian rhythms vs. photoperiods

Photorespirétion vs. transpiration

Collenchyma vs. sclerenchyma

Symplast vs. apoplast
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